ERNZ / Components

No. A / Part name # =2 / Pcs #E / Material £ - FMELIE / Color:Finish
1 /\F )L / Panel 2 7 JLEHR A1050P / Aluminium A1050P DIVIN—-T 599 T JLI AL / Silver-Black Anodized
2 E—k 249 H/3— / Heat-sink top cover 1 T7ILSHH#F A6063S-T5 / Extruded aluminium A6063S-T5 D LIN—-TS5Y9F7 )L Ak / Silver-Black Anodized
3 /73— / Bottom frame 1 T ILSIRH #f A6063S-T5 / Extruded aluminium A6063S-T5 2 )LIN—TS599F7 )L A / Silver-Black Anodized
4 7522 T 54y / Flange bracket 2 7L #F A6063S-T5 / Extruded aluminium A6063S-T5 S ILIN—TF5959F7)LAb / Silver-Black Anodized
5 INARIJLRUFE R (RAJUTIL) / Panel screw (Hexagonal) 8 RATULR / Stainless steel #EALIE / Unfinished
6 TS5 HTE R / Flange screw 4 #% / Steel ={ME S 0O A—bk / Black trivalent chromate
7 IS5 Bt F v / Flange nut 4 #% / Steel ={E S 04—k / Black trivalent chromate
8 Z35AT L / Rubber feet 4 $1)ard L / Silicone 7594 / Black

&
Q
DN

BiE (B ERED) / Color Type

85 / Code L+ THh/\— / Cover 2522 T 54k / Flange bracket INA2JL / Panel
SS < JLs\— / Silver < JLs\— / Silver < )L7N— / Silver
SB < JLsN— / Silver < JLsN— / Silver 7594 / Black
BS 7597% / Black 7594 / Black 2 JLiN— / Silver
BB 7594 / Black 7594 / Black 7597 / Black
fnd/Title
BASUINTFEHIR ISV RIE—MUIT LT —R O]
TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. FLANGED HEAT-SINK ALUMINIUM ENCLOSURE
A& 8/ Approved %X /Checked #I[X]/Created A F /Product number RE/Scale
EXHF23-5-270000 13
iR KiL = 1/ 6
YR B /Date 2019/04/05




B-B(1:4)

T

EATLE
Rubber feet

18

2.5

273

E(1:2)
detail E

14.5

270

265

56.75
53.5

267
—

10

145 AL IR AR LI YRR AR L AR AR TN AR T RN AR RRAY

— ©

4-M5MME R

4-M5Countersunk

o ——a

218

[ee)
o
o o~
o™
©
N
187
M3RF+vk 201.5
M3 nut
207
~ 215
224
230
0

A LANYE M3X%6
Screw M3-6

37

1.8
2.7
1.8
2.7
1.8

11.6

266.5

C-C(1:4)

46 7

D-D(1:4)

18

230.5

18

BRASUINTFERTS

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
IV RBME—RVOTILET—R
FLANGED HEAT-SINK ALUMINIUM ENCLOSURE

A1
QL]

A& 8/ Approved

iR

&3 /Checked

XL

#I[X]/Created

4’§

#IF /Product number

EXHF23-5-270101

RE/Scale
1:4

YER B /Date 2019/04/05




E

k2% / Heat—sink

~
©
N
230
218
4-Mb5
«
[[]
9.8 181.4

191

222.5

9.8

18

2.5

20.5

BRASUINTFERTS

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
E—bk 2 HhN—

Heat-sink top cover

A1
QL]

A& 8/ Approved

iR

&3 /Checked

XL

#I[X]/Created

4’§

#IF /Product number

EXHF23-0O-27

RE/Scale
1:4

YER B /Date 2019/04/05




1.8
2.7
1.8
2.7
1.8

267

222.5

215

224

187

201.5

207

218

230

L

2.5

fh4 /Title
TAKACHI| BASHIHTFERIE TH— () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom frame
= = = RE/Scale
732/ Approved &3 /Checked #HI]/Created #IF /Product number
W230-H50-D267 14
iR XL & 4/ 6

YER B /Date 2019/04/05




INAR)L / Panel

G-G(1:2)
3 232 F-F(1:2)
~ F
© )
R 6 5
e bor
\f— F )
218
O @)
O @)

J-J(1:2)
H-H(1:2)
J J
. Qﬁ /
O O
O O
w4 /Title
TAKACHI] BRXL2#tshFERTE Reyy O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7 2/ Approved #[X|/Checked #I[X/Created FF /Product number RE/Scale
EXHF23-5-O 12
iR KiL ® 5 / 6
{ERLH /Date 2019/04/05




266.5

11.75 7

18
U

18
g
|=[
it

Lo
o
™
AN
Lo
v
< = 9 = 0 g
© o)
14.5
46
6-C2 2-23.2
M3k EATLE
M3 nut Rubber feet
&
46 >
29.2 16.8 .
N AL~y M3 X6
Screw M3-6
o — ——"—
fn/Title
1 N 1o TAKACHI] #R&i2hFEMTE 955 5T S5k O]
AN — TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Flange bracket
1 -I 732/ Approved 18X /Checked #I[X]/Created #IF /Product number RE/Scale
31.6 4.4 iy
EXHF23-0O-27 i
iR KiL = 6 / 6
YR B /Date 2019/04/05




	EXHF23-5-27 Model (1).pdf
	EXHF23-5-27 Model (2).pdf
	EXHF23-5-27 Model (3).pdf
	EXHF23-5-27 Model (4).pdf
	EXHF23-5-27 Model (5).pdf
	EXHF23-5-27 Model (6).pdf

